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\setlength{\unitlength}{\textwidth}
\begin{picture}(1,1)
\put(0,0.5){\1line(1,0){1}}

\put (0,0.5){\1ine(1,1){0.3}}

\put (0,0.5){\1ine(1,2){0.3}}

\put (0,0.5){\1line(1,-1){0.5}}
\end{picture}
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\setlength{\unitlength}{\textwidth}
\begin{picture}(1,1)

\put (0,0.5){\vector(1,0){1}}

\put (0,0.5){\vector(1,1){0.3}}

\put (0,0.5){\vector(1,2){0.3}}

\put (0,0.5){\vector(1,-1){0.5}}
\end{picture}
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\setlength{\unitlength}{\textwidth}
\begin{picture}(1,1)
\put(.5,.5){\circle{0.2}}
\put(.5,.5){\circle{0.3}}

\put (.5, .5){\circle*{0.1}}
\put(.1,.1){\circle{0.1}}
\end{picture}
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\setlength{\unitlength}{\textwidth}
\begin{picture}(1,1)

\put (0, .2){\vector(1,0){0.5}}

\put (0, .2){\vector(1,1){0.5}}

\put (0.5, .2){\vector(1,1){0.5}}
\put (.5, .7){\vector(1,0){0.5}}

\put (0, .2){\vector(2,1){1}}

\put (.2, .1){$\vec{A}$}
\put(.2,.5){$\vec{B}$}

—

\put (.4, .4){$\vec{Cr=\vec{A}+\vec{B}$} A 2

\put (.8, .2){$\displaystyle \vec{CM}=\frac{\vec{A}+\vec{B}}{2}$}
\end{picture}
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\setlength{\unitlength}{\textwidth}
\begin{picture}(1,1)
\put(.5,.5){\oval(.1,.1)}
\put(.5,.5){\oval(.2,.1)}
\put(.5,.5){\oval(.3,.2) [t]}
\put(.1,.1){\oval(.2,.1) [tr]}
\end{picture}
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\usepackage{tikz}
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\begin{tikzpicture}
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\begin{tikzpicture}
\draw (0,0) -- (1,0) ;
\draw (0,0) -- (2,1)
-- (0,1)--(0,0);
\end{tikzpicture}

\begin{tikzpicture}

\draw (0,0) circle (2em) ;
\draw[->,color=blue] (0,0)
-- (20:3em) ;
\draw[color=red] (-3em,0)
-- (3em,0);

\draw [color=green] (0,-3em)
-- (0,3em);
\end{tikzpicture}
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\begin{scope} [option=#]

\draw[->] .3

\end{scope}
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TikZ=2t4

\begin{tikzpicture}
\draw[->, very thick]
(-2, 0)--(2,0) node[below]{$X$};

\draw[->, very thick] (0, -2)--(0,2)
node [abovel {$y$};

\draw[color=gray, step=1]
(-1.9,-1.9) grid (1.9, 1.9);
\draw[color=red, domain=-1.2:1.2]
plot(\x,\x"3) nodel[right] {$y=x"3$};
\end{tikzpicture}
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\begin{tikzpicture}

\draw[thin, color=gray, step=1icm]
(-1.9,-1.9) grid (1.9,1.9);
\foreach \t in {-1,...,1}
\draw[color=blue] (-2, -0.176%2+\t)
--(2, 0.176%2+\t);

\foreach \y in {-1,0,1}
\draw[color=blue] (-0.176%2+\y,-2)

--(0.176%2+\y,2) ; —
\draw[->, thick] (-2,0)--(2,0)
node [below] {$x$};

\draw[->, thick] (0,-2)--(0,2)
node[left] {$t$};

\draw[->, color=red, very thick] (10:—2cm{/””iz
--(10:2cm) nodel[right] {$x’$};

\draw[->, color=red, very thick] (80:-2cm)
--(80:2cm) node[above] {$t’$};

\draw [color=yellow] (-2,-2)--(2,2)

node[right] {light};

\end{tikzpicture}
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\usepackage [all] {xy}
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\xymatrix{
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